LEETEME 17V IV Y ARBRESIHRAE
A% 20115%F3A2280 (KKEH)

BERERX

higy | 0~4 | 5~9|10~14/15~19| 20X | 304% | 404X | 501X | 604X | 704K |80fX T| =
PX 1 1 2 1 5
REX 0
R X 2 2 1 1 1 2 1 10
i =3 4 3 1 8
EREX 1 5 2 1 9
T=RX 1 5 1 2 11
R=a 7 1 1 1 1 1 14
RiEmAX 1 1 2
RIELXR| 1 1 1 1 1 5
Z Dt 1 1 2

H 18 | 18 3 2 3 6 10 1 3 1 1 66

B& 20115£38 228 (kEEH)
BEERER

thisg | 0~4 | 5~9[10~14|15~19| 204X | 30K | 401€ | 504K | 601K | 704X |80fK 1| &
PR 1 1 4 1 1 2 3 13
REX 4 11 7 2 2 1 27
[£3]3 5 13 5 1 2 1 31
i =3 16 | 62 | 18 2 6 2 108
EHRE 5 21 8 3 1 2 40
Z=X 7 6 3 1 24
T=E 3 12 | 4 2 3 3 1 28
ZEERl 11 | 21 1 1 40
ZELRE| 6 18 | 10 1 6 1 2 44
T Dt 2 9 3 1 15

it 60 | 174 | 72 | 15 | 13 | 22 7 5 2 0 0 | 370

LETEMESERREL 42— m ¥4Iy  (082)247—4325
T730—8611 LEMPRTFHE=TH8EG6S 0120—14—8734




ARl BE! HEH & LETOFEHRIE

ATV IILIVOHA-BE HEHKIER

800 12/1~3/21
700
600 .
500 | lq 1
4
—— AR
'K b 11 =o¥
200 N Py p MT
100 + 4
0
N D \» v O 9 v O ') v O ) 3s) N D D
O N VY T Y T W T o N gV et e o
\\ \\ \\ \\ \\ \(\/ \ \ \ \(\/ \c\/ \ \ \q/ \(\/ \
N N N R N N N R N R I RN
PSSV SRV VPPV Vo
LEmTEHSRHTE eSS |12/1~3/21 |
14
12 g S
1 I
8 ‘
6,
4
4 + M ‘
2 f u; &
¢
) | ¢ v
L | |
-4
— [o0] Lo AN D Lo N D (o] N D [{e] ™ — (o] Lo
s§ggggrrEIgEEs ogoe
~ N — — ~— N ~N ~N ~N N N ~N ~N N N N
- Z X X > g YN d d 35 5 ¥ 9 7z 5 o
o o ~— — ~— N o o (e»] N N o (e] N N o
N N (e») o o N AN AN N AN N
N AN N




I 5T B 1A i 35 SEMEOREITHESIERFAEFICONT
#HEH TEERTELR X T4 HE 5B HAME
3/22 |WB/INERR HX 2ikEASE  |3/23-24H
3/22 |2 E/INERKR i) =8 2ikEASE  |3/23-24H
3/22 |2E E/MER i) =8 FikEASE  |3/23-24H
3/22 | FRINIINERR RELXX |[FEAH  |3/23-24H
3/22 |BIBINER RELXX |[FEAHE |3/23-24H
3/22 |BiB/IMNERR iR |FERASE (3/23-24H
/17 | BRI AWHFAXERZR (HBATH  |FERAHE
3/16 |£MIF/ME g=hil FERAH
3/16 |Zdt/NEHk tEEEr  |SamE | — |
3/17 |BB/IMVER P X F#FASH |3A18H
3/17 |[RR{TB/INVERR 3] FiPAEH |3A18H
3/17 |ZERT/INERR 3] =8 FiEASH |3A18H
3/17 | =B/ ER i) =8 FiEAEH |3A18H
3/17 |2 E/INERKR i) 8 FiPASH |3A18H
3/17 |R B R/NFER ER/RX FIREASH |
3/16 | RHE/NERR P FHEASH  (3/17-18H
3/16 |[LHA/INERR P FIREASH |
3/16 | K i /INFERR i) =8 FIREASH |
3/16 |2 E/NER i) =8 FIREASH |
3/16 |FF/MIINERR RIEEXRX |RERAH [
3/16 |EH /R ERRX ZikEASE  |3/17-18H
3/14 |£RIF/MER pg=hii] FERAH




